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Question Number : 1 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Who coined the term ‘Developmental State’?
(A) Chalmers Johnson

(B) Peter Evans

(C) Adrian Leftwitch

(D) Amartya Sen

Options:
1 A
2. B
3.
4 D

Question Number : 2 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Who propounded the term Embedded Autonomy?
(A) Chalmers Johnson

(B) Peter Evans

(C) Adrian Leftwitch

(D) Amartya Sen

Options:
1 4

2. B
3.
4. D

Question Number : 3 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which one is/are the key characteristic/s of a Developmental State?

(A) A state that has economic development as a priority objective

(B) A state that has a strong government support to science and technology
(C) A state that adopts a consolidated public-investment budget

(D) All the above

Options:



1. A&
z B
3.
4. D

Question Number : 4 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Who propounded the concept of “New Public Governance’?
(A) Stephen Osborne

(B) Woodrow Wilson

(C) Guy Peters

(D) Gerry Stoker

Options:
1. A
2. E
3.0
4. D

Question Number : 5 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

What 1s the key characteristic of the New Public Governance?

(A) An administration that is based on a strictly hierarchical model of bureaucracy

(B) An administration that emphasizes business practices, market incentives, and competition

(C) An administration that integrates social organizations and individuals to form a complex
network

(D) None of the Above

Options:
1. A
2. E
3
4. D

Question Number : 6 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



What is the full form of MADA?

(A) Modified Area Development Agency
(B) Modified Area Development Approach
(C) Modern Area Development Approach
(D) Modified Agency Development Area

Options:
1 A
2. E
3
4. D

Question Number : 7 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The National Commission for Schedule Caste was established under........of Indian constitution.
(A) Article 338
(B) Article 250
(C) Article 180
(D) Article 142

Options:
1. A
2. E
>
4. D

Question Number : 8 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

According to Thomas Dye, ‘Public Policy’ means
(A) Anything a government chooses to do or not to do
(B) Authoritative allocation of values

(C) articulating and matching actors’ goals and means

(D) None of the Above

Options:
1 A
2. B
3.
4. D

Question Number : 9 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Vanbandhu Kalyan Yojana (VKY) policy meant for
(A) Tribal people

(B) Dalits
(C) Workers
(D) Farmers

Options:
1 A
2. B
3.
4. D

Question Number : 10 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The first committee to design GST model in India was headed by
(A) Vijay Kelkar
(B) Asim Das Gupta

(C) LG. Patel
(D) Rangarajan

Options:
1 A
2. B
3
4. D

Question Number : 11 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Integrated Goods and Service Tax (IGST) is payable when the supply is
(A) Interstate

(B) Intra-state

(C) Intra- Union Territory
(D) All of the above

Options:
1 A
2. E

2 C



4. D

Question Number : 12 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

IGST i1s levied on supply of goods and provision of services by
(A) Central government

(B) State government
(C) Union Territory
(D) Aand B

Options:
1 A
2. E
3
4. D

Question Number : 13 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which constitutional amendment corresponds to the passage the GST bill?
(A) 101
(B) 120t%

() 1220
(D) 115t

Options:
1. A
2. E
3.
4. D

Question Number : 14 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Goods and Service Tax will be beneficial to the stakeholders in the economy, because (A) It
eliminates the cascading effect of tax (B) It eliminates the massive transaction tax (c) It provides
Input Tax Credit (ITC)

(A) Elimination of cascading effect of tax

(B) Elimination of Massive transaction cost

(C) Providing Input Tax Credit (ITC)

(D) All of the above

Options:
1 4

Z2 B
AL
4. D

Question Number : 15 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

FICCT Stands for

(A) Federation of Indian Chambers of Commerce and Industry
(B) Federation of Indian Chambers of Commodity and Industry
(C) Federation of Indian Committee of Commodity and Industry

(D) Federation of India Committee of Commerce and Industry

Options:
1. A
2. E
>
4. D

Question Number : 16 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

When was ‘Confederation of Indian Industry (CII)’ founded?
(A) 1976
(B) 1978
(C) 1975
(D) 1974

Options:



1. A&
z B
3.
4. D

Question Number : 17 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Intergovernmental Panel on Climate Change (IPCC) was established in the year
(A) 1997
(B) 1988
(C) 1990
(D) 1987

Options:
1 4

Z2 B
AL
4. D

Question Number : 18 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What is India’s fundamental idea that defines its global climate diplomacy?
(A) Climate Change

(B) Economic Development

(C) National Security

(D) Global Status

Options:
1. A
2. B
3.0
4. D

Question Number : 19 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Which of the following significantly contributes to global climate change problem?
(A) Air Pollution

(B) Natural Disaster

(C) Human Activity

(D) Water Pollution

Options:
1. A
2. E
3.
4. D

Question Number : 20 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following organizations debated on the climate change implications for
international peace and security in 20077

(A) Intergovernmental Panel on Climate Change

(B) United Nations Framework Convention on Climate Change

(C) United Nations Security Council

(D) World Bank

Options:
1. A
2. E
3.
4. D

Question Number : 21 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Who is/are India’s prominent international climate change negotiators?
(A) Shyam Saran
(B) Chandrashekhar Dasgupta
(C) Prodipto Ghosh
(D) All of them

Options:
1 A



=
3.
4. D

Question Number : 22 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: O

According to Bhuyan, Jorgensen, and Sharma, which of the dimension ensures transparency and
accountability from the policy implementers?

(A) Bhuyan, Jorgensen and Sharma

(B) Elmore and McLaughlin

(C) Nakamura and Smallwood

(D) Walt and Gilson

Options:
1.4

Z2 B
3.
4. D

Question Number : 23 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
According to Bhuyan, Jorgensen, and Sharma, which of the following dimensions ensures

transparency and accountability from the policy implementers?
(A) Second dimension

(B) Third dimension

(C) Fourth dimension

(

D) Seventh dimension

Options:
1 A
2. B
3.
4 D

Question Number : 24 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The concept of ‘Governometrics’ helps policy makers in
(A) Exploring policy inputs

(B) Finding out causal relationship

(C) Deducing outcomes

(D) All of the above

Options:
1. A
2. E
>
4. D

Question Number : 25 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

QCA 1n ‘Governometrics’ refers to
(A) Quality Comparative Analysis
(B) Quantity Component Analysis
(C) Quantitative Component Analysis
(D) Qualitative Comparative Analysis

Options:
1 4

2. B
3.
4. D

Question Number : 26 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Governometrics helps in policy analysis to :
(A) Identifying policy inputs

(B) Computing policy inputs

(C) Study data patterns.

(D) All of the above

Options:
1 A



=
3.
4. D

Question Number : 27 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Which of the following phenomenon refers to situations wherein people flee or displaced across
borders due to sudden or slow onset disasters?

(A) Migration

(B) Refugee situations

(C) Human displacement

(D) Cross-Border Disaster-Displacement

Options:
1 4

2. B
AL
4. D

Question Number : 28 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The concept of “‘New Public Service’ emerged as an antithesis to
(A) New Public administration

(B) Classical theory

(C) New Public Management

(D) Human Relations theory

Options:
1 A
2. E
3
4. D

Question Number : 29 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following is not the theoretical roots for New Public Service.
(A) Fall of Berlin Wall

(B) Theories of democratic citizenship

(C) Models of community and civil society

(D) Organizational humanism and New Public Administration

Options:
1 A



=
3.
4. D

Question Number : 30 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
“Those who steer the boat have far more power over its destination than those who row it” the
statement 1s given by-
(A) Denhardt & Denhardt
(B) Chris Argyris
(C) Robert Golembiewski
(D) Ted Gaebler & David Osborne

Options:
1. A
2. E
3.
4. D

Question Number : 31 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following tenet is not part of New Public Service?
(A) Seeking the Public Interest

(B) Serving the Citizens

(C) Customer orientation

(D) Value citizenship over entrepreneurship

Options:
1 A
2. E
3
4. D

Question Number : 32 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Who of the following patronized Minnowbrook Conference —I in 1968?
(A) Robert Denhardt

(B) Dwight Waldo
(C) Robert Putnam
(D) F.W. Taylor

Options:
1 4
2. B
3.0
4. D

Question Number : 33 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Ministry of Human Resource Development (HRD) includes:
(A) Department of School Education and Literacy

(B) Department of Secondary Education and Higher Education
(C) Department of Women and Child Development
(D) Both A and B

Options:
1 A
2. B
3.
4 D

Question Number : 34 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Autonomy in higher education implies freedom in:
(A) Administration

(B) Policy-making

(C) Finance

(D) Curriculum development

Options:
1.4



=
3.
4. D

Question Number : 35 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: O
When was the Secondary Higher Education Commission (Mudaliar Commission) appointed?
(A) 1950
(B) 1952
(C) 1953
(D) 1956

Options:
1 A
2. B
3.
4. D

Question Number : 36 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the theme ‘Pradhan Mantri Jan Dhan Yojana’ scheme?

(A) Bringing more people under financial inclusion
(B) Providing cash subsidy to farmers
(C) Creating awareness about the value of money encouraging people to buy gold

(D) Providing cash to people to participate in Mutual Funds market

Options:
1. A
2. E
>
4. D

Question Number : 37 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Under Pradhan Mantri Jan DhanYojana (PMJDY), every account holder will get
(A) RuPay debit card

(B) Visa International debit card

(C) Master Card debit card

(D) EVM debit card



Options:
1 A
2. E
3
4. D

Question Number : 38 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Sarkaria Commission on Centre-State relations was set up in the year?
(A) 1980
(B) 1982
(C) 1983
(D) 1986

Options:
1 A
2. B
3.
4 D

Question Number : 39 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which schedule of the Indian Constitution divides the legislative powers between the Union and

states?

(A) 5% Schedule
(B) 6% Schedule
(C) 7% Schedule
(D) 8% Schedule

Options:
1. A
2. B
3
4. D

Question Number : 40 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Who among the following can establish an Inter-State Council?
(A) Parliament
(B) Supreme Court
(C) President
(D) Prime Minister
Options:
1A
2 B

3.
4. D

Question Number : 41 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
When was Digital India Program started?
(A) 15t April 2015
(B) 1%t May 2015
(C) 1%t June 2015
(D) 1t July 2015

Options:
1 A
2. B
3.
4. D

Question Number : 42 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

What is/are the objective/s of the Digital India Program?
(A) Digital infrastructure to every citizen

(B) Governance and Services on Demand

(C) Digital literacy

(D) All of the above

Options:



1. A&
z B
3.
4. D

Question Number : 43 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which is the first digital state in India?
(A) Kerala

(B) Karnataka

(C) Rajasthan

(D) Assam

Options:
1. A
2. B
3
4. D

Question Number : 44 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
United Nations declared ------------- as the period of the International Decade of Drinking Water

and Sanitation
(A) 1990-2000
(B) 1970-1980
(C) 1980-1990
(D) 1981-1990

Options:
1 A
2. B
3.
4. D

Question Number : 45 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Government of India introduced Central Rural Sanitation Programme (CRSP) in
(A) 1981
(B) 1984
(C) 1988
(D) 1986

Options:
1 4

2. B
AL
4. D

Question Number : 46 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Swachh Bharat Mission is expected to achieve the goal of Clean India by
(A) 20d October 2022

(B) 224 October 2019

(C) 2=d October 2020

(D) 27 November 2019

Options:
1. A
2. B
3
4. D

Question Number : 47 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Right to Information Act came into force on
(A) 12t October 2005

(B) 15% August 2005

(C) 15% June 2005

(D) 1st November 2005

Options:
1 4

Z2 B



3.
4. D

Question Number : 48 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Which of the following does not come under the definition of 'information' under RTT Act, 20057
(A) Log Books
(B) File Notings
(C) Data Material held in any electronic form

(D) Circulars
Options:
1 A
Z B
3
4 D

Question Number : 49 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The Indian Institute of Public Administration was established in
(A) 1957
(B) 1958
(C) 1954
(D) 1959

Options:
1 A
2. B
3
4. D

Question Number : 50 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



A new All — India Service can be created by
(A) A resolution of the Rajya Sabha

(B) An Act of Parliament

(C) An order of the President

(D) A resolution of the Union Public Service Commission

Options:
1 A
2. B
3.
4 D

Question Number : 51 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Which of the following committee is related to Panchayati Raj Institutions?
(A) Balwant Rai Mehta Committee

(B) G V K Rao Committee

(C) L.M. Singhavi Committee

(D) Ashok Mehta Committee

Options:
1. A
2. B
3
4. D

Question Number : 52 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Who was the Chairman of the Union Constitution Committee of the Constituent Assembly?
(A) B R Ambedkar

(B) J B Kripalani

(C) Jawaharlal Nehru

(D) Alladi Krishnaswami Ayyar

Options:
1 A
2. B
3.
4 D



Question Number : 53 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The first session of the Constituent Assembly was held in
(A) New Delhi

(B) Mumbai

(C) Kolkata

(D) Lahore

Options:
1 A

z2. B
3.
4. D

Question Number : 54 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

The Constitution of India is republican because it
(A) provides for an elected Parliament
(B) provides for adult franchise

(C) contains a bill of rights
(D) has no hereditary elements

Options:
1 A
2. B
3.
4. D

Question Number : 55 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Which one of the following is not a characteristic of Indian administration?
(A) Uniformity

(B) Decentralization

(C) Diarchy

(D) Independent Judiciary

Options:
1. A
2. B
3
4. D

Question Number : 56 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Fundamental Duties do not enjoy any
(A) Social sanction
(B) Moral sanction

(C) Political sanction

(D) Legal sanction

Options:
1 A
2. B
3.
4. D

Question Number : 57 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: O

The Convention on the Elimination of All Forms of Discrimination against Women (CEDAW)
was signed in the year ?

(A) 1979

(B) 1980

(C) 1992

(D) 1976

Options:
1 A
2. B
3.
4 D

Question Number : 58 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Which World Conference on Women 1s known as Beijing Declaration?

(A) First
(B) Second
(C) Third
(D) Fourth

Options:
1 4
2. B
3.0
4. D



Question Number : 59 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Which of the followings is the objectives of Gender Budgeting exercises?
(A) Promoting Gender Equality
(B) Ensuring Accountability
(C) Increasing Transparency and Participation
(D) All of the Above

Options:
1. A
2. B
3.0
4. D

Question Number : 60 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following statement 1s correct with regard to Gender Budgeting (GB)
a. The concept of GB needs to be conceptualized in the larger analytical frameworks of gender
mainstreaming
b. Gender budget does not talk about separate budget or 50:50 (equal) budgets for women and
men.
c. The GB exercises intend to leave its footprint on whole budgetary cycle and the budgeting
exercises at all levels of government, 1.e., national, sub-national and local levels.
d. GB only talks about Budgets for Women
Choose the Correct Code:
(A) a,b,c,d
(B) b,c,d
(C) ab, c
(D) a,c.d
Options:
1.4
2. E
>.Z
4.0

Question Number : 61 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
According to Diane Elson, which of the following implies the Tool 6 of the Gender Budgeting?
(A) Gender —Aware Policy Appraisal
(B) Gender-disaggregated Public Expenditure Incidence Analysis
(C) Gender Disaggregated Analysis of the Impact of the Budget on Time Use
(D) None of the Above

Options:
1. A



=
3.
4. D

Question Number : 62 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

X Five Year Plan corresponds to the following time periods:
(A) 2000-2005

(B) 2001-2006
(C) 2002-2007
(D) 2003-2008

Options:
1 A
2. B
3
4. D

Question Number : 63 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

World Bank Development Report 1997 entitled “The State in a Changing World” outlines that
‘State should match its role to its capability’. Capability here refers to:

(A) the ability to redesign institutional framework

(B) the ability to undertake and promote collective actions efficiently

(C) the ability to reinvigorate public institutions and civil service

(D) the ability to promote public governance

Options:
1. A
2. E
3.
4. D

Question Number : 64 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The book entitled: “Business and Polity: Dynamics of a Changing Relationship” is authored by
(A) Stanley Kochanek
(B) Jayti Ghosh
(C) C.P. Chandrasekhar
(D) D.N. Ghosh
Options:
1.4
2 B
3 C



4. D

Question Number : 65 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Consider the following pairs:
a. Ashok Leyland: Hinduja Group
b. Hindalco: A. Birla
c. Suzlon Energy: PunjLyod
Which of the above-given above are correctly matched?
(A) 1 and 2 only
(B) 2 Only
(C) 1 and 3 only
(D) 1,2,and 3

Options:
1. A
2. E
3.0
4. D

Question Number : 66 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which Five Year Plan discussed the environmental concerns for the first time?
(A) Fourth Five Year Plan

(B) Sixth Five Year Plan

(C) Seventh Five Year Plan

(D) Eighth Five Year Plan

Options:
1 A
2. B
3.
4. D

Question Number : 67 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Which of the following sector has the largest number of Public Private Partnerships (PPP)
projects in India?
(A) Health

(B) Road
(C) Education
(D) Urban Development

Options:
1 4
2. B
3.0
4. D

Question Number : 68 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

“Primary edication to all children” 1s one of the objectives of
(A) Second Five Year Plan

(B) Six Five Year Plan

(C) Seventh Five Year Plan

(D) Ninth Five Year Plan

Options:
1. A
2. E
3.
4. D

Question Number : 69 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

“Removal of poverty and attainment of self-reliance” are the objectives of
(A) Third Five Year Plan

(B) Fourth Five Year Plan

(C) Fifth Five Year Plan

(D) Sixth Five Year Plan

Options:
1 4
2. B
3.0
4. D



Question Number : 70 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which state initiated Rajiv Arogyasri under Public Private Partnership (PPP) mode in the health
sector?

(A) Erstwhile Andhra Pradesh
(B) Kerala

(C) West Bengal

(D) Karnataka

Options:

1.4

2 F

3. C

4 L

Question Number : 71 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which Five Year Plan adopted Public-Private Partnerships (PPP) as a strategy to promote
infrastructure development?
(A) Eighth Five Year Plan
(B) Tenth Five Year Plan
(C) Eleventh Five Year Plan
(D) Tweltth Five Year Plan

Options:
1 A
2. B
3.
4. D

Question Number : 72 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The book entitled: “4n Uncertain Glory: India and its Contradictions” is authored by
(A) Jean Dreaze and Amartya Sen
(B) Sunil Khilnani and Atul Kohli

(C) Jean Dreaze and Sunil Khilnani
(D) Atul Kohli and Jayati Ghosh

Options:
1 A
2. B
3.
4. D

Question Number : 73 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0

Monoploies and Restrictive Trade Practices (MRTP) Act came into force in
(A) May, 1970
(B) June, 1970
(C) July, 1970
(D) August, 1970
Options:
1. A
2 B

3.
4. D

Question Number : 74 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

‘Growth with Social Justice’ was the aim of -------- Five Year Plan?
(A) Ninth
(B) Tenth
(C) Eleventh
(D) Twelfth

Options:
1. A
2. E
3.
4. D

Question Number : 75 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

India’s Economic Growth rate for the year 2012 was
(A)4 percent
(B) 5 percent
(C) 6 percent
(D)6.5 percent
Options:
1A
2 B

3.
4. D

Question Number : 76 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0

‘Plan Holiday’ in India refers to the --—-———--- time periods:
(A) 1962-1965
(B) 1965- 1966
(C) 1966-1967
(D) 1966-1969

Options:
1.4

Z2 B
3.
4. D

Question Number : 77 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Data Driven transformation of society is called as:
(A) First Industrial Revolution

(B) Second Industrial Revolution

(C) Third Industrial Revolution

(D) Fourth Industrial Revolution

Options:
1 A
2. B
3.
4. D

Question Number : 78 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Which of the following objectives fulfil the concept of Big Data?
(A) Process automation

(B) Effective Decision-making

(C) Enhanced insights into problem solving

(D) All of the Above

Options:
1 A
2. B
3
4. D



Question Number : 79 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following implies the nature of Big Data:
(A) Raw, Unstructured and Semi-structured data
(B) Large and messy data

(C) Discovery of unexplored business questions
(D) All of the Above

Options:
1 A
2. B
3.
4. D

Question Number : 80 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

Which of the following Characteristic of Big Data explains its true meaning?

(A) Volume: Speed of data generation
(B) Velocity: Availability of data

(C) Variety: Diverse data sources

(D) Veracity: Insights of data

Options:
1. A
2. B
3
4. D

Question Number : 81 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following does not qualify the semi-structured data sources:
(A) Facebook Data

(B) Linked-in Data

(C) Login-Data

(D) None of the Above

Options:
1. A
2. E
>
4. D



Question Number : 82 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Key to Health in preventive medicine implies
(A) Medical and hospital care
(B) Doctor-centric

(C) Usage of high-end medical technology
(D) Sanitary reform- portable drinking water, housing and drainage facility

Options:
1 A
2. B
3.
4. D

Question Number : 83 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
What is the meaning of “Politico-economy of Health care”?
(A) Influence of the nature of Indian state in organizing health care.
(B) Interaction of the political processes with economic interests in structuring health care
services.
(C) Influence of medical development and innovation in structuring health care services.
(D) Influence of capitalistic interest in structuring health care services
Options:
1.4
2. B
3.C
4 D

Question Number : 84 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Who among the following sociologists viewed health in functionalistic manner?
(A) Emile Durkheim

(B) Max Weber

(C) Talcott Parsons

(D) Michel Foucault

Options:
1. A
2. E
3.0
4. D

Question Number : 85 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Famous book of Friederich Engels that explained the health inequality from class angle is
(A) German Ideology
(B) The Problems of Working Class in England
(C) The Birth of Clinic
(D) The Social System
Options:
1 4
> B

3 C
4. L

Question Number : 86 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Curative services focus on

(A) Single disease

(B) Multiple diseases

(C) Social and environmental factors
(D) Sanitation

Options:
1. A
2. B
3.0
4. D

Question Number : 87 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which part of the Indian constitution recognizes health as fundamental human right?
(A) Part III
(B) Part IV
(C) PartV
(D) Part VI

Options:
1. A
2. E
>
4. D

Question Number : 88 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Social model of health implies:

(A) Absence of 1llness/disease.

(B) Taking the help of medical professionals.

(C) Free from mental 1llness.

(D) Free from inequality, poverty, violence and war.

Options:
1 A
2. E
3
4. D

Question Number : 89 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Primary Health Care means:

(A) Basic/General Care along with Preventive Care
(B) Specialized Care

(C) Hospital Care

(D) Using health care services from traditional Healers.

Options:
1 4

Z2 B
AL
4. D

Question Number : 90 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Who among the following has the responsibility for employee welfare?
(A) Employers
(B) Central government

(C) State government
(D) All of the above

Options:
1. A
2. B
3.0
4. D

Question Number : 91 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



In the absence of statutory requirements, the employers may not provide even the basic
facilities to the employees. This is the basic assumption of the

(A) Religious theory

(B) Policing theory

(C) Appeasement theory

(D) Benevolence theory

Options:
1. A
2. B
3
4. D

Question Number : 92 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
According to which theory, employee welfare is an investment which would multiply and
return to the employers in some other forms?
(A) Religious theory
(B) Policing theory
(C) Appeasement theory
(D) Benevolence theory
Options:
1.4
2 B
3.C
4 D

Question Number : 93 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
An inclination to do something good for others can influence the employers to undertake
welfare facilities. This is the assumption of the
(A) Religious theory
(B) Policing theory
(C) Appeasement theory
(D) Benevolence theory

Options:
1 A
2. B
3.
4. D

Question Number : 94 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Making peace with employees by fulfilling all their needs without any resistance is the
essence of the
(A) Religious theory
(B) Policing theory
(C) Appeasement theory
(D) Benevolence theory
Options:
1.4
2 B
3 C
4. D

Question Number : 95 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

Which of the following was considered as the Engine of Growth in post-world war II period?
(A) Private Sector
(B) World Bank
(C) State
(D) Civil Society Groups
Options:
1.4
2. B
3.C
4 D

Question Number : 96 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the main reason for roll back of the state?
(A) Need for big investment
(B) Huge task
(C) Poor performance
(D) None of the above

Options:
1 A
2. B
3.
4 D

Question Number : 97 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



Which of the following 1s not a feature of good governance?
A) Democracy

(
(B) Economic liberalization
(C) State intervention

(

D) People participation

Options:
1. A
2. B
3
4. D

Question Number : 98 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following 1s associated with the power of exploitation
(A) State

(B) Market

(C) Private Sector

(D) Civil Society

Options:
1 A
2. E
3
4. D

Question Number : 99 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which Five years plan emphasized the empowerment through education and skill development?
(A) 9% Five Year Plan
(B) 10™ Five Year Plan
(C) 11% Five Year Plan
(D) 12% Five Year Plan

Options:
1 A
2. B
3.
4. D

Question Number : 100 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



When was the first National Policy for voluntary sector announced?
(A) 2006
(B) 2007
(C) 2008
(D) 2009

Options:
1 A
2. B
3.
4. D



